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1 FEEEERBURS (1.2.1) (HAr )
=S o2 AKFER L3 R A E A
+ Hi 5, 816, 401, 290 29, 902, 390 5, 786, 498, 900
e = 5,202, 141, 155 328, 584, 855 4, 873, 556, 300
& A & pE 1,051, 214, 627 582, 927 1, 050, 631, 700
= at 12, 069, 757, 072 359, 070, 172 11, 710, 686, 900
KANBLZHS B H61, 959 A
2 ERHTRERGERERT (1.5, 1) (HAL 1)
ES o2 AR A RS AH AR
+ Hh 1, 600, 924, 685 6, 178, 485 1, 594, 746, 200
£ = 928, 769, 181 10, 202, 381 918, 566, 800
& gt 2, 529, 693, 866 16, 380, 866 2,513, 313, 000
KANBLZHS B 4161, 033 A
3 EAEEEEIETITA RS (1.2.2)
AT ETRERE 420, 499, 300
4 AFEGRERAERIT - BRESRG (13.2.1) (Hhr )
X 53 %
AERAE AT 12, 305
M % 2,028




